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Q.1

Q.2)

Q.3)

Q.4)

Instructions: 1) Attempt all Questions
2) Figures to the right indicate full marks
3) Answer should be precise and to the point.

Answer the multiple Choice questions. 5)
A large part of India's demand for energy is meirbgorts.
a) True b) False
. What type of electricity is produced most in India?
a) Hydro-electricity b) Wind electricity
¢) Thermal electricity d) Nuclear electricity
The energy crisis in India started from :
a) Economic crisis in 1991 b) Drought on 1966
¢) Increase in crude oil prices in 1973 d) Priatten of oil sector in 1999
The Electricity Act for reforms in the electricibgctor was passed in
a) 1951 b) 1991
c) 2001 d) 2003
. India is considered as one of the countries thaitla lowest transmission and
distribution losses in its electricity sector.
a) True b) False
Answer any three of the following questionsin 100 wor ds. (15)

1) Factors determining demand for energy.

2) Types of non-conventional energy.

3) Right to Education Act.

4) Availability of healthcare for men and women in d®ping countries.
5) Costs and benefits of investment in education,

Answer any one of thefollowing questionsin 250 wor ds.

(10)
1) Explain the problems and reforms in the oil andiradtgas sector in India.
2) Explain the various indicators of the health statuan economy.
Answer any two of the following questionsin 500 wor ds. (30)

1. Discuss the measures for conservation of energy.
2. Discuss the causes and effects of the energy sgfearidndia.
3. Describe the features and current problems ofritiah education system.
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